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hhoommeossetaassiiss and rresspoonnssee

definition homeostasis is the maintainance of a constant internalenvironment

for the body tofunction properly 3 different things need to be controlled

1 Blood Glucose levels
2 Water levels
3 Temperature

Organs used in homeostasis

cerebellum
stimulidetected
travelsfromplaceofdetectiontobrainconsciousreaction Inerve cellscarrythestimulidetected stimulustheyareThe CN Fernadssign stemconsistsof ftp.naicnord travelsfromplaceofdetection verylongandtherefore

howeverwhen
transferringasignal

i i i
receptors effectors

spinalchordreflexresponse cantransmitfastelectricalsignals another itcanslow
downas itmustcross

The Pancreas Produces insulin
becomesa

slowchemicalsignal

guy

Regulation ofBody Temperature

regulatedaround the thermoregulatory center in the Brain

TooCold Too Hot
hairsstandup o totrapa layerofair hairs lie flat osothey'renottrappinganyair
stopsweating start sweating owaterwasevaporatecausingheatandenergyloss

vasodilation obloodvesselsvasoconstriction starts bloodvesselsconstrict Lessbloodflownear growwiderso obloodflowing
sotheyarefurther surfaceofskin soless bloodflowscloser fissure's heatmusclesshiver awayfromtheskin heatloss toskin lossmovementproduces

energy



human endocrine systems

pituitarygland ountheBrainproduces in fsh Type 1
thyroid oproducesthyroxinehelps inregulatingourmetabolism pancreasdoesn'tworkproperlyEÉÉÉÉÉÉIEnsuinadrenal gland on theneck oproducesadrenalinetriggers fightorflightresponse Treatment insulininjections
pancreas behindthe stomach oproducesunsounhelpsregulatebloodglucoselevels
ovaries ofemales oproducesoestrogen Type 2
testies o male oproducetestosteroneincreasesmuscle hairgrowth cellsbecomeunsensetiveto insulin

treatment controldiet exercise
control of blood Glucose
m

symtomsBoth
This is picked up by the Pancreas weightloss
Pancreas producesinsulin osentoutintoblood increasedneedto urinate
insulincausescellsto removeglucosefromblood beingverythirsty
liverandmusclecellscan convertglucose to glycogenand store it blurryvision
onceglucose is removed bloodGlucoselevels fall fatigue

Lowlevels hunger
if bloodGlucoselevels are too low et's pickedupby thepancreas
Pancreas will produce awagon
aucose previouslystored in aver andmusclecellsreturns toblood
this causes blood Glucose levelsto rise

again
p name

Glucagon converts Glycogen to Glucose overy important not to

control of water

Kane ways we lose water sways kidneysfunction
remove urea urine ultrafiltrationbloodunderhighpressureenterskidneys
control ion content sweat waterconsureaandsugararesqueezedinto thecapsule

whenweexhale
reabsorption as theyflowthroughthe nephron
usefulitemsarereabsorbed allsugar someions somewater

Yak'sfort Iraaksfore algiiggate

releaseof waste anythingthat isn'treabsorbedwillbe
or a kidney

transplantbutcould
havelongwaitinguses4 ifsomeone'skidneysdon'tworkproperlythecandokidneydialysisAnacinandriskofrejection filterstheblood3timesaweekuhrseachtime verytimeconsuming



periods ivf
advantages

hormones allover theplace a child
disadvantages

lotsof drugsoversmallperiodoftime
sideeffectsof drugs
longterm consequencesBasalbody

temperaf my veryexpensive ominimumsooo

Hormonelevel
PhototropismFsu

growthtowardslight

iiiii geotropissmigiaritropism
q.isIYaieYeleaEes

OESTROGEN growstowardsgravity
progesterone 11 roots

growth

ethene
contraception ripening

my p.jp yy auxins
growthontheright

hormonal direction
pills
coil tops stop

eggbeingimplanted

other
Tubetied onospermoregg

Fermanent



Inherretteennee Variation and Evolution

mitosis
2 identicaldaughtercells aopioideggyngqwggggpgegg

pattens
ribosenucleicand

DNA is made bybases that fittogether

meogged
forgrowthrepair Thereare 4 bases

Thymine

usedfor sexual
reproof g

eunpairedchromosomes

a differentdaughterceus canedgametes adrenne
Guanine
cycotine

gametes Talwaysfits withA
male sperm a alwaysfitswith C
femalegg hasa sugarphosphatebackboneoazqgjyestnrgt.azaroundoutsidetocreae
plantmale pollenfound instamen genome
plantfemaleeggfoundinstigma agene is a stretchofDNA thatcodesforacharacteristic

a genome is all thegenes in anorganism
asexual reproduction aminoacids

common in plantsandBacteriafungi 3 basescodesfor one aminoacid
producesageneticallyidenticalpopulation TheseaminoacidsbuildupandfoldtoEremateatedprotein
cell divisionbymitosis

advantages enzyme willfoldupdifferentlyandthat effect how
onlyoneparent imoretimeefficient the work in the body

onlysome

muggy m

genetically identical i ifoneissusceptibletodisease keywordstheyauareandcanbewiped
sexual reproduction outatonce gamete sexcell

commonly in animals chromosome bundledupDNA

mm

producesgeneticallydifferentoffspring allele differentversions ofgenes
dominantonlyneedonegenetoexpress characteristic

geneticallydifferent aitoneissusceptibletodisease homozygous samegene

mate isrequired timeconsuming

weneed2 identicalrecessivegenestoexpresscharacter

disadvantage heterozygousdifferentgene
genotype whatgenesyouhave
phenotype a collectionofyourcharacteristics
nucleotid base sugar phosphate



punnet square embryoscreening
advantages

example healthyembryos
mother geneticmatchforsibling
genotype Rr R R R Rr

homozygousheterozygous
Phenotype carrier nonsufferercarrier Metmbryocreatedand

destroyedfathergenotyper Rr Rr rr
in

R r

heterozygoushosp499s chromosomes
23pairs
46 in total

Polydactyly d d xx female xy male
is dominant

mother Phenotype
D Dd DAI heterozygous bfingers

genotype dd dependsongenotype
phenotype 5fingers and environment

father
dd ddfhomozygous

Sfingers diet
genotype Dd d exercise
phenotype 6fingers choice

copying DNAEvolution
cystic fibrosis
is recessive Evolution lifebegan on Earthas

f Ff ff

th th's case the chug
mother havingcysticfibrosis is simple organisms more than 3billion
genotype Ff prettymuchnothappening yearsago All life hasevolvedfromthe
Phenotypecarrier

f f

since it's recessive you'd simple organisms
father need 2 carriers for there
genotype ft f Ff ff to be anychance natural selection
phenotypenormal 214 are carriers though random variation in genes

leads to variation in a
insulinproduction populationEinimalsgeographically separated origional Dna individual characteristics

tend to make new species bacterial DNA suitable to Environment
SelectiveBreeding putorigional into aremorelikelyto bepassed

Breeding for a particular characteristics bacterial on
Produceslargeamounts
in shorttime



cloning proteinSynthesis
few ways to do it orderofaminoaciddetermineshapeandfunctionin proteins

stage1 Transcription nucleusPfaff a chopof apiece orootinghormone sod bass sequence ofgene iscopiedinto
complimentarytemplatemolecule RNAmRNA

Tissue culture mRNAgoes intocytoplasm
let one cell divide and take that stage2 translationcytoplasm
keepdividing mRNAattachesto Ribosome

Aminoacidsarebrought
Peneculin toRibosome on carrier

has savedmillionsoflives molecules tRNA
Mrsa bacteriaresistantto
antibiotics

Ribosomereadsbaseson mRNA
joins correct aminoacids incorrect
order
whencompleteproteinfolds intouniqueshape

mutations
i changeto a base
mostmutationshavenoeffect
But if a mutationchanges
shapethen it's a problem

noncodinggenes
switchgenesonandoff
tell geneswhentoproduce
Proteins



Ecology organiccompounds
compounds containing

Ecosystem animals andplants that live carbon
within an area

Thingsneededtosurvive carboncycle

water
Taken bywpponby

tandem
respire

pay
photosynthesis

Plants viagormetimesmate
type delay animals'Featen

by
Abiotic Biotic O'canbe
nonliving living
lightintensity sedimented

Temperature
food
predators animals plants

water levels pathogens
pH

g mm

ironlevels water CY
cloudswind

co levels
condengy Pfeupitation

a oxygenlevels o rain

bpercolateanimals need toadaptto their

g

grow
off

environment so they can survive

soil
shallow roots throughflow

n

oh

spine
can storewater in leaves Decay

i white blend in t.r.irsmall ear t
temp

thick coat
tho Oz


